80mm

(JCI1-S-001-2003) (

8.1

P27 P28

40mm  80mm

8.1

8.1

1000 N/mm

1
3 =+

'
ck

1
3.

10(d )

N/mm

mm

d max

!

ck

40

30

20 )
(N )

10

40mm
8.1

0.055(N/mm)

4.0(N/mm?)

8.1
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8.2

1
( ) 8.3
f;
’ 4%
gj NTEY
¥ [ £
8.4
G, 8.2
W, f, 8.2
Gf
W, =5.0x— 8.2
ft
A 1
0.8 |
- £
~ Eo 6 [
0.4
=W, \&75,0.25)
X 0.2 —
0
0 1 2 3 4 5
W><Ft/GF)
8.3 8.4 ( )
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8.1

8.2 8.3 8.5 8.7
5mm 0.15mm
25% 36 11
8.1
(g/cm3)
61 |80 4omm| 2.67 1.97 1.2 59
) ) (1.3) )
16
62 |40 20m| 2.63 2.04 ooy | s
20
63 |20 10m| 2.63 2.78 o] s
31
64 | 10 smm | 2.60 3.27 e | e
25.7
S 5 om | 2.72 0.70 21| e
61 |80 4om| 2.72 1.24 } 59.
62 |40 20m| 2.66 3.24 - 60.
63 |20 10mn| 2.55 5.53 . 60.
64 | 10 smm | 2.44 6.50 . 61.
.5
S 5 om | 2.53 5.03 e -
61 |80 4omn| 2.69 0.56 } 60.
62 |40 20m| 2.69 0.78 - 60.
63 |20 10m| 2.68 0.91 - 61.
64 |10 smm| 2.67 1.29 - 61.
8.0
S 5 om | 2.63 1.65 5% |
2.50 3.00
2.50 3
5
106 A CSG 5mm JIS A 1134
2 JIS A 1103(0.075mm), () 0.15mn
3
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100
WHE -e-
,,‘,,
80 -
70 |
60
50
40 |
30 |
20
10 |
0
0.01 0.1 1 5 10 100
mm
8.5
8.2 ( (5mm )) 8.3 ( (5mm )
0.15 [0.15 |0.3 |0.6 |1.2 |2.5
031061212550 5 10 |10 20|20 40|40 80
15 20 30 30 25 20 15 25 40 40
A 247193 [12.9|14.2| 20 |18.4 16.8 | 20.1 | 26.7 | 36.4
27.3110.6 | 13.3 | 14.1 | 18.9 | 15.0 19.3 | 20.4 | 28.7 | 31.7
11.3 | 16.4 [ 11.3 | 11.1 | 21.6 | 27.6 12.0 22.6 33.0 32.4
2 12 15 10 10 5 10 15 20 20

50

40

30

20

10

0.15 0.3

8.6

0.3 0.6

0.6 1.2

(mm)

(

1.2 2.5

2.5 5.0

(5mm

))

50.0
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8.7

20 10

(mm)

(

(5mm

80 40
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80mm 60 80
140kg/m? 20 8.4
8.5
40mm 2@ 150mm><H300mm
JIS A 1113
8.4
(kg/m)
max W c S 80 5mm
(mm) 5mm G1 G2 G3 G4
80 40[40 20|20 10f 10 5
80 0 160.0 31.5 | 128 80 726 557 408 307 257
100.0 140 140 700 537 393 296 248
246.7 34.4 | 148 60 725 452 409 290 275
187.5 150 80 718 447 405 287 273
112.9 158 140 694 433 391 278 264
141.7 29.7 85 60 701 548 557 383 203
103.8 83 80 697 545 554 381 202
53.6 75 140 689 538 548 376 200
8.5
(ka/m) (kg/m) (N/mm?) (N/mm?) /) (N/mm®) | (N/m?)
80 128 2.94 3.98 0.61 1/6.5 2.10 4.02 1910
140 140 5.01 7.59 1.06 1/7.2 4.37 7.59 3037
60 148 2.36 2.88 0.43 1/6.8 1.49 2.88 1467
80 150 2.96 3.75 0.55 1/6.8 2.14 3.75 2189
140 158 4.90 7.72 1.20 1/6.5 5.14 7.72 4651
60 85 4.61 6.71 0.94 1/7.1 4.17 6.71 4380
80 83 8.11 11.41 1.39 1/8.2 7.69 11.41 9981
140 75 24.40 31.53 2.81 1/11.2 23.23 31.53 16481
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8.8
Ao 40MM
8.1
530 150
49 225 i 225 40
|
BER | 8 3
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8.9
10 4
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20 75
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®

8.6
8.10 8.5
8.6
8.6 530
9. 25 . 25 4
AG-25TD: Lo ST "
- | B=b" 0 4
:0.0IN  250kN ! [ j
/min HERE_ i ;
DC-104R:( ) ! _i i )
50pusec/ch i’ﬁ"‘i'\\‘! ! : S
ch :4ch Q =
RA-5:( ) ﬂ;?-\ﬁ n-j-
5 Q@ 7)) T L\ o
1.5mv/V ' \ gy BB
(3000><10°° ) cuoomE
1600107 / 8.10
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(4)

8.7
8.7 2 NO (mm/min) (s) ()
80kg/m3 1 CSG A C80 0.1 1.0 4
2 2 CSG A C80 1.0 0.1 4
80kg/m? 1
0.15mm/min 2
0.15mm/min
0.075 0.15mm/min 0.1 mm/min
5)
8.11 t
8.3 8.4
0.75W, +W. w C
G, -0 "1 8.3 ° i -
Aig mmy
S 8.11
W, = 0.75(I m, + 2m2jg -CMOD, 8.4
G; (N/mm)
W, (N mm)
W, (N mm)
Ay (mm?)
m, (kg)
S (mm)
L (mm)
m, (kg)
g (9.807m/s?)
CMOD, (mm)
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(6)

3
%-I'Mh'l . CHoDEa |[
8.12
2 8.12
@)
8.13
0.005mm
0. IN/mm?
8.13
0.1N/mm?
G, Gf'
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8.8

8.8
¢ /in) © CMOD CMoDc of 0 "
@) | | O 6 | O | il mim ¢ ] YD
( = 80kg/m®) | AB0- | 1.0 |0.1| 19.0 | 3063 | 0.042 | 126 | 2.778 | 0.133 | 1.534 | 1.323 |0.0965| 1237 | 549
( = 80kg/m’) | ABO- | 0.1 |1.0| 447.4 | 2667 | 0.047 [1703.2| 3.962 | 0.006 | 0.187 | 0.140 [0.1279| 1536 | 781
( =140kg/m’y | A140 | 0.1 |1.0| 579.5| 4411 | 0.051 |1620.2| 3.641 | 0.005 | 0.207 | 0.135 [0.1431| 1933 | 722
( =60kg/m) | B6O | 0.1 |1.0{ 369.9 | 1297 | 0.032 | 921.5 | 2.922 | 0.005 | 0.314 | 0.190 [0.0601| 486 | 553
( =80kg/n)| B8O | 0.1 |1.0| 572.8 | 2115 | 0.045 |1027.5| 3.494 | 0.005 | 0.455 | 0.204 {0.0779| 715 | 661
( =140kg/n’y | B140 | 0.1 |1.0| 635.6 | 3513 | 0.046 [1304.3| 2.929 | 0.004 | 0.259 | 0.135 |0.1058| 1432 | 557
( =60kg/n’) | C60 [ 0.1 |1.0| 628.6 | 3950 | 0.024 |1523.0| 4.465 | 0.002 | 0.298 | 0.176 |0.1482| 1804 | 929
( =80kg/n)| C80 [ 0.1 |1.0| 720.4 | 5558 | 0.028 |2044.5| 5.607 | 0.002 | 0.253 | 0.165 [0.1948| 2478 | 1,171
( =140kg/n’y | C140 | 0.1 |1.0| 944.8 | 9718 | 0.055 |1983.5| 5.300 | 0.003 | 0.303 | 0.160 |0.3004| 4743 |1,105
€y
0.1 mm/min 8.14
8.16
[n-2]
[n] [n+2] Microsoft Excel  Match
0.001mm
1/3 172
0.1mm/min
80
140
0.5mm
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8.14
( )
B60 CMOD
——B80 CMOD
—B140 CMOD
0 1 2 3
(mm)
8.15
( )
r\ Cc60 CMOD
—C80 CMOD
——C140 CMOD
0 1 2 3
(mm)




&)

8.17
60 80 140kg/m?
20
12000 [
o CSG A o
A CSG B
10000 0 cee o ==
2 CSG A CMOD o=
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8.17
A ¢
c 8.18
ON
10 T T
O CSG A
A CSG B
= 8 0O CSG C O
E m] ——CSG A CMOD
o ——CSG B CMOD
o 6 ——CSG C CMOD
o RE———
= o E/] e e
° oy o) o B=EE e o
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8.18 c
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0.15mm/min

80kg/m?

0.15mm/min

0.159mm/min

0.129 0.280mm/min

8.19
1 A80
2(A80- )

0.075 0.15mm/min

0.1 mm/min

0.126

0.137 0.195mm/min

C140

W JCI

0.001D/min

T

E
|

)/

X\ s

500

B @ WAPZ N QY e A

0.0005D/min

, > (CMoDc)

8.19

1500
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@

8.20
80kg/m? 1 A80-
0.128N/mm 2(A80- ) (0.096N/mm)

80 0.128N/mm 140 0.143N/mm
60 0.060N/mm 80 0.080N/mm 140 0.106N/mm 60 0.148N/mm 80 0.195N/mm
140  0.300N/mm

W, 553.2
1170.7N mm c
60 Wo
Wl
0.5 I S S 10000
A Ll e « ) 9000
% 0.4 - CMOD ( ) 140 8000 g
" | | —o—  -cMoD  wo( )w1( ) .\ 7000 =
» u =
0.3 6000 <~
cea \"° 5000
0.2 | A80 ceo .> O\C/ 1 4000
. ol | A8O- AL40 B140 s e
R-men|  B6O B8O e ol 1 3000
0.1 | |l e o e °° 2000
- B ———— OO _— i
770\0/0\0 ol]al® nhaey| | N oto O\L/O
NNNEGES 1000
O-O \TI L L L L 0
N <t n N~ (V] N o N N N N
o o o o o < o ) < ) o
0] [oe] [oe] [ee] < [{e] [ee] <t [{] [e0] <
No.
8.20
©))
8.21
8.22
/
=1.24 2.78
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GF (N/mm)

.40

.35 o _
_-0”

.30 7,

25 e O

. O /
.20 ="

o %:‘%’ o CSG
15 _
A CSG

GF

(N/mm)

A
g :
.10 R O CcSG C
oF —CSG A CMOD
.05 7}@/ CSG B CMOD
—CSG C CMOD
.00 :
0 5 10 15 20 25 30 35 40
(N/mn?)
8.21
0.5 | - | ~ 0CSG A
2.78 // 1.24 ACSG B
oa | ] // ocse ¢
: / v ®CSG A CMOD
o/ L ACSG B cMOD
0.3 = L [MCSG_¢C CMOD
/ =
s )2 / =1.00 5 5
E? // (N/mm) (N/mm)
0.2 | , AS0 —CNOD 0.1279 [ 0.0544
/ A140 -CMOD 0.1431 | 0.0672
4 B60 —CMOD 0.0601 | 0.0487
& s B8O ~CMOD 0.0779 | 0.0531
0.1 /A B140 -CMOD_|| 0.1058 | 0.0676
/ C60 —CMOD 0.1482 | 0.0645
/ C80 ~CMOD 0.1948 | 0.0770
0.0 ’ C140 —cMob_ || 0.3004 | 0.1080
0 0.1 0.2 0.3 0.4 0.5
GF(N/mm)
8.22
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8.23
.40
.35 !
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230 /”
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.25 a =
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-15 A CSG B ]
0 O CS6 C i
| %;g/ A —CSG A CMOD
05 R ——CSG B cmon ||
——CS6 C CMOD
.00 ! !
0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5
(N/mm?)
8.23
8.24
.40
35 B O
O
30 | /{/
25 | " =
20 |
O CSG A
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.00 | | |
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8.9

8.25 8-26 8.25
8-26
0 0.0lmm
0.3 0.5mm
8.9
CMOD
Q] )
No. [pd.for] [pd.for]
® EMOL)) Wy | vy | v

ym.for] [ft.for] | [soft.for] @ @
( =80kg/i) _CNoD 2667 0.047 8308.3 2.000 2.000 2690.32 23.32 1 0.04489 -0.00211 4
( =140k . 4411 0.0s1 | 21795.5 | 0.700 | 1.125 | 4491.56 | 80.56 2 0.05081 | -0.00019 0
( =60kg/n®) _CMoD 1297 0.032 7798.7 0.600 0.600 1322.60 25.60 2 0.03144 -0.00056 2
( =80kg/i) —CMOD 2115 0.045 8242.9 1.000 1.000 2155.82 40.82 2 0.04417 -0.00083 2
C =140kg/) —cHoD 3513 0.049 | 17806.3 | 1.200 | 1.200 | 3544.40 | 31.40 1 0.04757 | -0.00143 3
( =60kg/n®) _CMOD 3950 0.024 59261.0 1.600 1.600 3978.78 28.78 1 0.02263 -0.00137 6
( =80kg/i) —CMOD 5558 0.028 68619.2 1.900 1.900 5597.31 39.31 1 0.02607 -0.00193 7
( =140kg/i®) _CMOD 9930 0.055 75582.8 3.000 3.000 10000.98 70.98 1 0.05790 0.00290 5
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8.10

65
95 90
’
(G,)
(G f) G, 0.73G ‘
0.5mm
8.10
NO. 2
(/mm Gf - of GF*/GF
(N/mm?) wigmm) | F,(N/mm®) | :Wc(mm) W/ ) W/ )
( =80kg/m3) A80-Average | 0.610 | 0.546 0.90 | 0.0807 | 0.1677 0.879 0.0991 0.1279 0.77
( -140kg/m3) Al40-Average | 1.060 | 1.002 0.95 | 0.1064 | 0.1893 0.634 0.1134 0.1431 0.79
( =60kg/m3) B60-Average | 0.430 | 0.313 0.73 | 0.0537 | 0.0843 0.806 0.0423 0.0601 0.70
( =80kg/m3) B80-Average | 0.550 | 0.461 0.84 | 0.0848 | 0.0890 0.715 0.0514 0.0779 0.66
( -140kg/n3) | BLA0-Average 1.200 | 0.781 0.65 | 0.0846 | 0.2052 0.556 0.0869 0.1058 0.82
( =60kg/m3) C60-Average | 0.940 | 0.737 0.78 | 0.0957 | 0.1784 0.783 0.1051 0.1482 0.71
( =80kg/m3) C80-Average | 1.390 | 1.046 0.75 | 0.1306 | 0.1567 0.720 0.1247 0.1948 0.64
C140-Average | 2.810 | 1.838 0.65 | 0.1956 | 0.1939 0.677 0.2453 0.3004 0.82

( =140kg/m3)
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